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Specific instructions for this examination paper:

Answer any THREE questions

Seen examination paper. 
No papers, notes or books are permitted in the exam.  


2005-6 Semester 1
BS2912
Public Administration in Britain 
Please answer 3 of the following 6 questions 

Question 1


        (33 marks)
Explain why efforts to control the size of the public sector in the UK may not be successful.

Question 2


        (33 marks)

Indicate some of the reasons – perceived or real – which may explain the high level of scepticism in the UK towards the European Community.

Question 3


        (33 marks)

Evaluate the attempts that have been made to reform public services in the last decade. Has implementing the philosophy of New Public Management  made significant advances in this respect?

Question 4


        (33 marks)

Does the operation of choice in public services promise to deliver improvements in the future?  You may draw upon your own working experience to evaluate any local initiatives.

Question 5


        (33 marks)

Is e-government a pious aspiration rather than a reality in modern government?
Question 6


        (33 marks)

Indicate whether the injection of large amounts of funds is likely to solve the problems of the National Health Service.
End of Question Paper
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